IB MATHEMATICS SL

REVIEW PACKET #3
(i) (1+2x)°, (3]
(i) (1=3x)(1 + 2x)°. [3]

(4]
The curve y =9 — < and the line v + x = 8 intersect at two points. Find

(i) the coordinates of the two points, [4]
(ii) the equation of the perpendicular bisector of the line joining the two points. [4]
; . 12 .
2 Find the gradient of the curve y = — 2 at the point where x = 3. [4]
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6 A geometric progression has 6 terms. The first term is 192 and the common ratio is 1.5. An arithmetic
progression has 21 terms and common difference 1.5. Given that the sum of all the terms in the
geometric progression is equal to the sum of all the terms in the arithmetic progression, find the first
term and the last term of the arithmetic progression. (6]

4 (i) Find the first 3 terms in the expansion of (2 —x}ﬁ' in ascending powers of x. [3]

(ii) Find the value of & for which there is no term in x* in the expansion of {1 + Ax)(2 —x}ﬁ_ [2]



11 Functions fand g are defined by
f:x—k—x forxeR, where k is a constant,

9
gixe —5 forxeR, x# -2

(i) Find the values of & for which the equation f{x) = g(x) has two equal roots and solve the equation

f(x) = gix) in these cases. [e]
(ii) Solve the equation fz(x) = 5 when k = 6. [3]
(iii) Express g~'(x) in terms of x. [2]
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The diagram shows a glass window consisting of a rectangle of height Am and width 2rm and a
semicircle of radius # m. The perimeter of the window is 8 m.

(i) Express A in terms of r. [2]

(ii) Show that the area of the window, 4 m?, is given by

A=8r-27" —im?. 2]

Given that » can vary,
(iii) find the value of r for which A4 has a stationary value, [4]

(iv) determine whether this stationary value is a maximum or a minimum. [2]



